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(do the whiteboards on the back)
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image5.png
Red Elk leads a dog team that can put out 2.5 kW of power.
They skid a 312 kg sled a distance of 340 m in 93 seconds. What
must be the coefficient of friction? Formulas:
F-mg (Lifting)
Work (1): W i:;’;}f ((z:fj)"’ )
Force (N): F W=Fd (Work)
Distance (m): d
Mass (kg): M.
Coeff. of Friction: [
Power (W) : P
Time (s): t

0.22
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‘A 150 HP tractor can drag a 350 kg load how far in a minute if
the coefficient of friction between the load and the ground is
0.78. 1 HP=745.7W

Formulas:
F-mg (Lifting)
Work (1): W i:;’;}f ((z:fj)"’ )
Force (N): F W=Fd (Work)

Distance (m): d
Mass (kg): M
Coeff. of Friction: |1
Power (W) : P
Time (s): t

2500 m
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Work (7): W
Force (N): F
Distance (m): d
Mass (kg): M
Coeff. of Friction: |1
Power (W) : P
Time (s): t

Complex Power
Formulas:
F=mg (Lifting)
F=pmg (Dragging)
P=W/t (Power)
W=Fd (Work)

Example 1 - A 1.2 HP winch can lift a 2350
kg Land Rover up 14.5 m into a tree in what
time? (1 HP = 745.7 W) Grs1825705)
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Work (7): W
Force (N): F
Distance (m): d
Mass (kg): M
Coeff. of Friction: L
Power (W) : P
Time (s): t

Complex Power
Formulas:
F=mg (Lifting)
F=pmg (Dragging)
P=W/t (Power)
W=Fd (Work)

Example 2 - Gumi Baere drags a 45.1 kg
box that has a coefficient of friction between
itand the floor of .34 a distance of 16 m in
11.7 seconds. What is her power output?
(205.5=210W)
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‘What must be the power rating of a motor if it is to lift a 560 kg
elevator up 3.2 m in 1.5 seconds?

Formulas:
F-mg (Lifting)
Work (1): W i:;’;}f ((z:fj)"’ )
Force (N): F W=Fd (Work)
Distance (m): d
Mass (kg): M
Coeff. of Friction: |1
Power (W) : P
Time (s): t

11700 W
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A 0.75 HP winch can lift a car 5.2 m in 37 seconds. What must
be the mass of the car? 1 HP=745.7W

Formulas:
F=mg (Lifting)
Work (1): W i:;’;}f ((z:fj)"’ )
Force (N): F W=Fd (Work)
Distance (m): d
Mass (kg): M
Coeff. of Friction: |1
Power (W) : P
Time (s): t

406 kg




